i X BT 4 | FE AR AT

ZERLANKRELBRES AEKR (BER)

&5 [7+A4] [7] (1] R & AR R %
IEZEES 18.000]  0.37 17. 000 1..000| | (W) |SE %[ (a)+b)] 4, 832. 997
2 |BX#FOE 555.067] 11.48 513. 000 42.067 @EEE BEAEED) DBERN 3,636.999
3 |hivbhEnEsa 186.050|  3.85 168. 000 18. 050 BEFRRE BERER ) DRRRY 1,195. 998
4 |nERw 672.000] 13.90 619. 000 53.000| | B)|BANDEIYRTHES 0.003
5 |ICES5m% 22. 000 0. 46 22. 000 0. 000 © gg%?ﬁg%ﬁﬁ%
6 |TERFR 342.200]  7.08 281. 200 61. 000 - = 1
1 | ERRIX% 164.799|  3.41 123. 799 41.000] | @) |H%BEHLA+B)+(C)] 4,834
8 |BEE 136.000] 2. 81 110. 000 26.000| | () |z 150
9 |BEXE—% 9.000]  0.19 7..000 2.000] | () 3= +(E)] 4,984
10 |A&FEER 418.000]  8.65 389. 000 29. 000 A L) 0
11 |gscizs vy 12.000]  0.25 11. 000 1.000| | @|FREDAR | rom 0
12 |EBETE 2,.137.881] 44.24 1, 254. 000 883. 881 2Dt 0
13 [HERTE 58.000]  1.20 45. 000 13.000| | (W) |18 & [(F)+(G)] 4,984
14 INHK% 98.000]  2.03 74. 000 24.000| [(D[#BEEH BERETE) 4,984
15 |4 - $m 4.000)  0.08 3.000 1. 000
BEREEZ| 00 B 10 %
& 3 4,832.997 3, 636. 999 1, 195. 998




